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Inter (Part-1) 2021
'|Mathematics | 'Group-i_ | PAPER: |

Time: 30 Minutes| (OBJECTIVE TYPE) Marks: 20

Note: Four possible answers, A, B, C and D to each guestion
are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-bock. Cutting or filling two or more circles
will result in zero mark in that guestion. | |

1-1- " The numiber of roots of polynomial equation 8x® —
19 -27=0are:

(a) 2 dale
(c) 6V _ (d) 8 _
2- For an infinite geometric series of which | r| <1, we
- have s, =: _ ' -
L 2(1+D a
e cBle s
a - SER
© 3 TR
3- The property tjséd in (a+ 1).+%= a+ (1 + %) is:
(a) Closure =~ (b) Associative v '
(c) Commutative ~ (d) Additive
4 Ifa,_3=2n-5, then 7" term is = :
(@) ¢ - (b) 15¥
2 P i SR (d) 13
5-  The converse of P— qis:
(@ ~p—>q (B p>~q
- (c)g->pv. e (d)~p—->~q
6- Partial fraction Of_xz:‘_ 1 will be of the form:
Ax+B A B
(a) x2__1 . .(b)x+1+x_'-_1'{
. A B
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When p(x) = x* + 4x2 — 2x'+ 5 is divided by (x - 1),

‘then remainder is:

@10 -~ (b) -10
(c) 8¢ (d) -8
I, i fkis:

If e ' 0, then value of k i

(a) i_15 L AByD
(c) £4v (d) +8

IfHis H.M. betweenaand b, then H = :
AT < | , a+b 2

T T by r

b S
©).5 (d) +\I_

The tnwal solutlon of the homogeneous I:near
equation in three variables is:

(@ (0,0,0)v (b) (1,0,0)
€).(0;1,0) ..~ (d).(0,0,1) . .
-The period of 3 cos (;) is: |

(@ n . '. 11 (b} 101t~’
@1 .. @3

- The factorial of a positive integer ‘n’ is:
@nt=n(n=HM=2) (b) ni=n(n+2)

@) nl=n(n-1N)v (d) nl=n (n-2)!
The solution of1 +cosx-—ﬂlf05x52n

oy . =40 < is é%;u'al "
@@ . ef]
& Bl @w -

- cOS 48° + cos 12° =

(a) 2 cos 30° cos 18° v" (b) 3cos 18°
(c) V3cos18°: - - (d) 42 cos 180

e
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(a) 321° (b) 3220
(c) 323° - (d) 324°v -
IfFAI |s the area of a trlangle ABC, then A =
.'(a) 2bcsm[3 B 2:.@lbsur*uoz
1 i .
‘(C) 7 bcsina v (d) absino -

@ 7 () 27 N
© 3 (o §

The middle term in expans:on of (a + x)" when n is
even:

(a ') (2+ 1)th term v’ (b) ( )th term.
@ (G ) em’ (25 Jinterm

T . S Es
5 radin degree measure is:

) .
In antl clockmse dlrectlon. 7 rotation is equal to:

(@) 90° v I g (b) 180° i

(c) 270° e o S
With usual nt:;ltaltuans;,r the value of a + b +C is:
(@s . (b) 28 v
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